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Pre Calculus 11 Ch3/4 Lesson 8b: Solving Max and Minimum Problems:

1. Two numbers have a difference of 10. Their product is a minimum. Determine the numbers
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2. The sum of two natural numbers is 12. Their product is a maximum. Determine the numbers
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3. Arectangular area is enclosed by a fence and separated into 2 rectangular regions as shown. With 800m of

fencirllg, what is the maximum area that could be enclosed. Find the dimensions of the enclosed area.
Yo AN

s,

\ N= \N(M\J\')—\,S\Q)

@ hea =W W)
W
w A= W (Hoo—ts W) Be= A Yoo (u 1w
[ - e(%( - 1—\:\,—4 \“/’°—‘9’l\7’:_';’— 0=\ OV =\ s W
o3 A o Five Tk \ A= ( = - =) 4o
N L. N -—\S(w’;“&;ﬁ v Aoas o 0w w=© w= 3
¥oo= 2L +3WD 9 N A)v = (M'w N ml
€00 3w =2 L " AER Y (R CLU N B Koot = 3\} 'L__T
) Vs * e { G 16 -
MK

AV/EY 2 ¢ =72 (H;a? €OV

 romee 2> = )

Te Maw Brep & S22 T AV W bcLumn wHEN TWME
wolh  1$ERum,. To 42, Tue \Rw T s 200.

Mov - Lsw =L

PR Crres{ A
Y

4. Suppose the rectangular fence is to be separated into 3 rectangular regions as shown. Again, with 800m of

fencing, find the maximum area that could be enclosed. Find the dimensions of the\enclosed area.
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5. A company that charters a boat for tours around Vancouver Island can sell 200 tickets at $50 each. For every
$10 increase in the ticket price, 5 fewer tickets will be sold. What selling price will provide the maximum

revenue? What is the maximum revenue? 27" WeWWo -
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6. A Broadway musical sells 400 tickets each day at $30 per ticket. For every increase of $3.00, they lose 20
sales. What should their ticket price be to yield the maximum revenue?
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7. A company sells its bikes at $300 each and can sell 70 in a season. For every $25 inFrease in the price, the

number sold drops by 10. What price will yield the maximum revenue?
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8. A farmer wants to make a rectangular corral by using his barn wall as one of the sides of the corral. If the
farmer has only 60m of fence, what length for the rectangular corral would maximize the area?
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9. Challenge: This one is super hard. The parabola y = f(x) = x? + bx + c has vertex “P” and the parabola

y= g(x) = —x* 4+ dx + e hasvertex “Q”, where “P” and “Q” are distinct points. The two parabolas also

intersect at “P” and “Q”. Prove that Z(e—c) = bd .
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